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QUESTION 1

When an IT resource is replaced by another IT resource with a higher capacity, what kind of scaling is being performed?
Select the correct answer.

A. scaling in

B. scaling out
C. scaling up
D. scaling down

Correct Answer: C

QUESTION 2

Which of the following types of organizations can assume the role of cloud resource administrator for a cloud service?
SelectALL THAT APPLY

A. A cloud consumer organization that owns the cloud service.

B. A cloud provider organization that owns the cloud service.

C. A third-party organization contracted by the cloud consumer to administer the cloud service.
D. A third-party organization contracted by the cloud provider to administer the cloud service.

Correct Answer:. ABCD

QUESTION 3

Which of the following functions can be performed by service agents?SELECT ALL THAT APPLY
A. routing

B. logging

C. encryption

D. authentication

Correct Answer: ABCD

QUESTION 4

An IT resource with increased is able to better avoid and recover from exception conditions. Cloud environments can be
based on an architecture that provides extensive failover support to further increase .Select the correct answer.
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A. virtualization, measured usage
B. storage, reliability

C. reliability, storage capacity

D. reliability, reliability

Correct Answer: D

QUESTION 5

Service agents have a technical interface (or service contract) and are therefore required to be explicitly invoked. Select
the correct answer.

A. True
B. False

Correct Answer: B
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